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What is the relationship between lines a and h?

allb, blic, cid, die, ellf, f1g, gllh

Theorem 3-10
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In a plane, if two lines are perpendicular to the |
same line, then they are parallel to each other. L el
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Theorem 3-9

If two lines are parallel to the same line,
then they are parallel to each other.
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Because all correponding angles
will be equal, so the lines
are parallel.

Writing Theorem 3-10: In a plane, two lines A ,,B
perpendicular to the same line are parallel. Y D '
. : C
Use the rectangular solid at the right to - -4
explain why the words in a plane are needed. e 3
E F

GH is perpendicular to AG at the same time EG is
perpendicular to AG but GH and EG aren't parallel

to each other.
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